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1 Overview

This document lists all the changes needed to correct issues in the ATS iwd-TTCN3-B2020-03_D20wk11 related to the title of this CR.

Contact:
Fu Wang

wangfu@datangmobile.cn
2 Corrections required
. The below changes are required in addition to ATS iwd-TTCN3-B2020-03_D20wk11 and TTCN CR R5s200294.
2.1 Change 1

	Function name
	f_TC_8_1_3_1_15a_TestBody ()

	Reason for change
	1. According to TS 38.331 clause 5.5.3.5, UE shall determine the sorting quantity based on RSRP for this TC. Take account of SS signal level uncertainty, RSRP of NR Cell 4 UE measured may be higher than that of NR Cell 2 when the configured power level of both cells in is same at time T2. The measurement result of NR Cell 4 is list first instead of that of NR Cell 2 in measResultNeighCells IE of MeasurementReport at step 9. The power level of NR cells shall be adjust to ensure that the measurement result of NR Cell 2 is list first in measResultNeighCells IE of MeasurementReport at step 9.
Note: it needs a prose CR to support.

	Summary of change
	1. Modify v_CellPower_ServingCell_FR1 -85 to -88.
2. Add the variable v_CellPower_A3_Entry1_FR1 -82 for cell4 at step5.

	TTCN module
	RRC_Measurement_NR5GC.ttcn

	MCC160 Comment
	Accepted, but proposed to implement differently. Instead of changing cell power a permutation can be used to allow cell results be listed in any order


Before 

function f_TC_8_1_3_1_15a_TestBody() runs on NR_BASE_PTC

  {

    var template (value) NR_CellPowerList_Type v_CellPowerList_AtT0;

    var template (value) NR_CellPowerList_Type v_CellPowerList_AtT1;

    var template (value) NR_CellPowerList_Type v_CellPowerList_AtT2;

    var template (value) NR_CellPowerLevels_Type v_CellPowerLevels;

    var NR_AbsoluteCellPower_Type v_CellPower_A3_NoEntry_FR1;

    var NR_AbsoluteCellPower_Type v_CellPower_A3_Entry_FR1;

    var NR_AbsoluteCellPower_Type v_CellPower_ServingCell_FR1;

    var RSRP_Range v_RsrpThres;

    var template (omit) PCI_RangeElement v_PCI_RangeElement;

    var PhysCellId v_PhysCellIdServing;

    var PhysCellId v_PhysCellIdNeighbour2;

    var PhysCellId v_PhysCellIdNeighbour4;

    var template (value) MeasObjectNR v_MeasObjectNR;

    var template (omit) MeasObjectToAddModList v_MeasObjectList;

    var template (value) ReportConfigToAddModList v_ReportConfigList;

    var template (value) MeasIdToAddModList v_MeasIdConfigList;

    var template (omit) MeasConfig v_MeasConfig;

    v_CellPower_ServingCell_FR1 := -85;

    v_CellPower_A3_NoEntry_FR1 := -97;

    v_CellPower_A3_Entry_FR1 := -79;

    v_CellPowerList_AtT0 := {cs_NR_CellPower(nr_Cell1, v_CellPower_ServingCell_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE),

                                cs_NR_CellPower(nr_Cell2, v_CellPower_A3_NoEntry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE),

                                cs_NR_CellPower(nr_Cell4, v_CellPower_A3_NoEntry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE)};

    v_CellPowerList_AtT1 := {cs_NR_CellPower(nr_Cell2, v_CellPower_A3_Entry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE)};

    v_CellPowerList_AtT2 := {cs_NR_CellPower(nr_Cell4, v_CellPower_A3_Entry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE)};

     v_CellPowerLevels := {v_CellPowerList_AtT0, v_CellPowerList_AtT1, v_CellPowerList_AtT2};

     f_NR_SetCellPowerList(v_CellPowerLevels[0]);

    //@siclog "Steps 1-2" siclog@

    //SS transmits an RRCReconfiguration message including measConfig to setup intraNR measurement and reporting for event A3.

    //The UE transmits an RRCReconfigrationComplete message

    v_RsrpThres := 2;

    v_PhysCellIdNeighbour2 := f_NR_CellInfo_GetPhysicalCellId(nr_Cell2);

    v_PCI_RangeElement :=  cs_PCI_RangeElement(v_PhysCellIdNeighbour2);

    v_MeasObjectNR := f_NR_MeasObjectNR_SSB(nr_Cell1, omit, omit);

    v_MeasObjectNR.blackCellsToAddModList := {v_PCI_RangeElement};

    v_MeasObjectList := {cs_NR_MeasObjectToAddMod_NR(tsc_NR_MeasObjectId1, v_MeasObjectNR)};

    v_ReportConfigList := {cs_NR_ReportConfigEventA3(tsc_NR_IdReportConfigId1, v_RsrpThres, r1)};

    v_MeasIdConfigList := {cs_NR_MeasId_Config_id1_obj1_conf1};

    v_MeasConfig := cds_38508_MeasConfig_NR(v_MeasObjectList,

                                          v_ReportConfigList,

                                          v_MeasIdConfigList);

    f_NR_SendRRCReconfiguration_MeasNR(nr_Cell1, v_MeasConfig);

    //@siclog "Step 3" siclog@

    //SS re-adjusts the cell-specific reference signal levels according to row "T1" in table 8.1.3.1.15A.3.2.-1.

    f_NR_SetCellPowerList(v_CellPowerLevels[1]);

    //@siclog "Step 4" siclog@

    //Check: does the UE transmit a MeasurementReport messages within the next 10s?

    f_NR_Check_NoMeasurementReport(10.0, nr_Cell1, cr_NR_MeasurementReport_Any);

    //@siclog "Step 5" siclog@

    //SS re-adjusts the cell-specific reference signal levels according to row "T2" in table 8.1.3.1.15A.3.2.-1.

    f_NR_SetCellPowerList(v_CellPowerLevels[2]);

    //@siclog "Step 6" siclog@

    //Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1 and Cell 4 without Cell 2 results?

    v_PhysCellIdServing := f_NR_CellInfo_GetPhysicalCellId(nr_Cell1);

    v_PhysCellIdNeighbour4 := f_NR_CellInfo_GetPhysicalCellId(nr_Cell4);

    f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId1, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)}));

    f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 5");

    //@siclog "Step 7-8" siclog@

    //SS transmits an RRCReconfiguration message including measConfig to remove Cell 2 from the blacklisted cell list.

    //The UE transmits an RRCReconfigrationComplete message

    v_MeasObjectNR := f_NR_MeasObjectNR_SSB(nr_Cell1, omit, omit);

    v_MeasObjectNR.blackCellsToRemoveList := {tsc_PCI_RangeIndex1};

    //v_MeasObjectNR := cds_38508_MeasObjectNR_RemoveBlackCells (v_FreqBandIndicator, v_SSB_Freq, v_SubCarrierSpacing, v_SSB_ToMeasure, v_SSB_MTC, omit, omit, {tsc_PCI_RangeIndex1});

    v_MeasObjectList := {cs_NR_MeasObjectToAddMod_NR(tsc_NR_MeasObjectId1, v_MeasObjectNR)};

    v_ReportConfigList := {cs_NR_ReportConfigEventA3(tsc_NR_IdReportConfigId1, v_RsrpThres, r1)};

    v_MeasIdConfigList := {cs_NR_MeasId_Config_id1_obj1_conf1};

    v_MeasConfig := cds_38508_MeasConfig_NR(v_MeasObjectList,

                                          v_ReportConfigList,

                                          v_MeasIdConfigList);

    f_NR_SendRRCReconfiguration_MeasNR(nr_Cell1, v_MeasConfig);

    //EXCEPTION: Steps 8Aa1 to 8Ab1 describe a transaction that depends on the UE behaviour; the "lower case letter" identifies a step sequence that takes place if a specific behaviour happens.

    //@siclog "Step 8-9" siclog@

    alt

    {    //8a1IF the UE detects event A3 for Cell 4 before event A3 for Cell 2 THEN the UE may transmit MeasurementReport message to report event A3 with the measured RSRP values for Cell 1 and Cell 4

        []SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)})))))

        {

            //9 Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1, Cell 2 and Cell 4?

            SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2),

                                                                                                                                                                                    cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)})))));

            f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 9");

        }

        //8b1IF the UE detects event A3 for Cell 4 before event A3 for Cell 2 THEN the UE may transmit MeasurementReport message to report event A3 with the measured RSRP values for Cell 1 and Cell 4.

        []SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2)})))))

        {

            //9 Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1, Cell 2 and Cell 4?

            SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2),

                                                                                                                                                                                    cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)})))));

            f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 9");

        }

        //9 Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1, Cell 2 and Cell 4?

        []SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2),

                                                                                                                                                                                    cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)})))))

        {

            f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 9");

        }

    }

  }
After change

  function f_TC_8_1_3_1_15a_TestBody() runs on NR_BASE_PTC

  {

    var template (value) NR_CellPowerList_Type v_CellPowerList_AtT0;

    var template (value) NR_CellPowerList_Type v_CellPowerList_AtT1;

    var template (value) NR_CellPowerList_Type v_CellPowerList_AtT2;

    var template (value) NR_CellPowerLevels_Type v_CellPowerLevels;

    var NR_AbsoluteCellPower_Type v_CellPower_A3_NoEntry_FR1;

    var NR_AbsoluteCellPower_Type v_CellPower_A3_Entry_FR1;

    var NR_AbsoluteCellPower_Type v_CellPower_ServingCell_FR1;

    var NR_AbsoluteCellPower_Type v_CellPower_A3_Entry1_FR1; 

    var RSRP_Range v_RsrpThres;

    var template (omit) PCI_RangeElement v_PCI_RangeElement;

    var PhysCellId v_PhysCellIdServing;

    var PhysCellId v_PhysCellIdNeighbour2;

    var PhysCellId v_PhysCellIdNeighbour4;

    var template (value) MeasObjectNR v_MeasObjectNR;

    var template (omit) MeasObjectToAddModList v_MeasObjectList;

    var template (value) ReportConfigToAddModList v_ReportConfigList;

    var template (value) MeasIdToAddModList v_MeasIdConfigList;

    var template (omit) MeasConfig v_MeasConfig;

    v_CellPower_ServingCell_FR1 := -88;

    v_CellPower_A3_NoEntry_FR1 := -97;

    v_CellPower_A3_Entry_FR1 := -79;

   v_CellPower_A3_Entry1_FR1 := -82;    

    v_CellPowerList_AtT0 := {cs_NR_CellPower(nr_Cell1, v_CellPower_ServingCell_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE),

                                cs_NR_CellPower(nr_Cell2, v_CellPower_A3_NoEntry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE),

                                cs_NR_CellPower(nr_Cell4, v_CellPower_A3_NoEntry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE)};

    v_CellPowerList_AtT1 := {cs_NR_CellPower(nr_Cell2, v_CellPower_A3_Entry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE)};

    v_CellPowerList_AtT2 := {cs_NR_CellPower(nr_Cell4, v_CellPower_A3_Entry1_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE)};  

     v_CellPowerLevels := {v_CellPowerList_AtT0, v_CellPowerList_AtT1, v_CellPowerList_AtT2};

     f_NR_SetCellPowerList(v_CellPowerLevels[0]);

    //@siclog "Steps 1-2" siclog@

    //SS transmits an RRCReconfiguration message including measConfig to setup intraNR measurement and reporting for event A3.

    //The UE transmits an RRCReconfigrationComplete message

    v_RsrpThres := 2;

    v_PhysCellIdNeighbour2 := f_NR_CellInfo_GetPhysicalCellId(nr_Cell2);

    v_PCI_RangeElement :=  cs_PCI_RangeElement(v_PhysCellIdNeighbour2);

    v_MeasObjectNR := f_NR_MeasObjectNR_SSB(nr_Cell1, omit, omit);

    v_MeasObjectNR.blackCellsToAddModList := {v_PCI_RangeElement};

    v_MeasObjectList := {cs_NR_MeasObjectToAddMod_NR(tsc_NR_MeasObjectId1, v_MeasObjectNR)};

    v_ReportConfigList := {cs_NR_ReportConfigEventA3(tsc_NR_IdReportConfigId1, v_RsrpThres, r1)};

    v_MeasIdConfigList := {cs_NR_MeasId_Config_id1_obj1_conf1};

    v_MeasConfig := cds_38508_MeasConfig_NR(v_MeasObjectList,

                                          v_ReportConfigList,

                                          v_MeasIdConfigList);

    f_NR_SendRRCReconfiguration_MeasNR(nr_Cell1, v_MeasConfig);

    //@siclog "Step 3" siclog@

    //SS re-adjusts the cell-specific reference signal levels according to row "T1" in table 8.1.3.1.15A.3.2.-1.

    f_NR_SetCellPowerList(v_CellPowerLevels[1]);

    //@siclog "Step 4" siclog@

    //Check: does the UE transmit a MeasurementReport messages within the next 10s?

    f_NR_Check_NoMeasurementReport(10.0, nr_Cell1, cr_NR_MeasurementReport_Any);

    //@siclog "Step 5" siclog@

    //SS re-adjusts the cell-specific reference signal levels according to row "T2" in table 8.1.3.1.15A.3.2.-1.

    f_NR_SetCellPowerList(v_CellPowerLevels[2]);

    //@siclog "Step 6" siclog@

    //Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1 and Cell 4 without Cell 2 results?

    v_PhysCellIdServing := f_NR_CellInfo_GetPhysicalCellId(nr_Cell1);

    v_PhysCellIdNeighbour4 := f_NR_CellInfo_GetPhysicalCellId(nr_Cell4);

    f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId1, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)}));

    f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 5");

    //@siclog "Step 7-8" siclog@

    //SS transmits an RRCReconfiguration message including measConfig to remove Cell 2 from the blacklisted cell list.

    //The UE transmits an RRCReconfigrationComplete message

    v_MeasObjectNR := f_NR_MeasObjectNR_SSB(nr_Cell1, omit, omit);

    v_MeasObjectNR.blackCellsToRemoveList := {tsc_PCI_RangeIndex1};

    //v_MeasObjectNR := cds_38508_MeasObjectNR_RemoveBlackCells (v_FreqBandIndicator, v_SSB_Freq, v_SubCarrierSpacing, v_SSB_ToMeasure, v_SSB_MTC, omit, omit, {tsc_PCI_RangeIndex1});

    v_MeasObjectList := {cs_NR_MeasObjectToAddMod_NR(tsc_NR_MeasObjectId1, v_MeasObjectNR)};

    v_ReportConfigList := {cs_NR_ReportConfigEventA3(tsc_NR_IdReportConfigId1, v_RsrpThres, r1)};

    v_MeasIdConfigList := {cs_NR_MeasId_Config_id1_obj1_conf1};

    v_MeasConfig := cds_38508_MeasConfig_NR(v_MeasObjectList,

                                          v_ReportConfigList,

                                          v_MeasIdConfigList);

    f_NR_SendRRCReconfiguration_MeasNR(nr_Cell1, v_MeasConfig);

    //EXCEPTION: Steps 8Aa1 to 8Ab1 describe a transaction that depends on the UE behaviour; the "lower case letter" identifies a step sequence that takes place if a specific behaviour happens.

    //@siclog "Step 8-9" siclog@

    alt

    {    //8a1IF the UE detects event A3 for Cell 4 before event A3 for Cell 2 THEN the UE may transmit MeasurementReport message to report event A3 with the measured RSRP values for Cell 1 and Cell 4

        []SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)})))))

        {

            //9 Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1, Cell 2 and Cell 4?

            SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2),

                                                                                                                                                                                    cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)})))));

            f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 9");

        }

        //8b1IF the UE detects event A3 for Cell 4 before event A3 for Cell 2 THEN the UE may transmit MeasurementReport message to report event A3 with the measured RSRP values for Cell 1 and Cell 4.

        []SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2)})))))

        {

            //9 Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1, Cell 2 and Cell 4?

            SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2),

                                                                                                                                                                                    cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)})))));

            f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 9");

        }

        //9 Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1, Cell 2 and Cell 4?

        []SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2),

                                                                                                                                                                                    cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)})))))

        {

            f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 9");

        }

    }

  }
MCC proposed implementation
After: 

function f_TC_8_1_3_1_15a_TestBody() runs on NR_BASE_PTC

  {

    var template (value) NR_CellPowerList_Type v_CellPowerList_AtT0;

    var template (value) NR_CellPowerList_Type v_CellPowerList_AtT1;

    var template (value) NR_CellPowerList_Type v_CellPowerList_AtT2;

    var template (value) NR_CellPowerLevels_Type v_CellPowerLevels;

    var NR_AbsoluteCellPower_Type v_CellPower_A3_NoEntry_FR1;

    var NR_AbsoluteCellPower_Type v_CellPower_A3_Entry_FR1;

    var NR_AbsoluteCellPower_Type v_CellPower_ServingCell_FR1;

    var RSRP_Range v_RsrpThres;

    var template (omit) PCI_RangeElement v_PCI_RangeElement;

    var PhysCellId v_PhysCellIdServing;

    var PhysCellId v_PhysCellIdNeighbour2;

    var PhysCellId v_PhysCellIdNeighbour4;

    var template (value) MeasObjectNR v_MeasObjectNR;

    var template (omit) MeasObjectToAddModList v_MeasObjectList;

    var template (value) ReportConfigToAddModList v_ReportConfigList;

    var template (value) MeasIdToAddModList v_MeasIdConfigList;

    var template (omit) MeasConfig v_MeasConfig;
   var template (present) MeasResultListNR v_MeasResultList_NeighbourCells;  //@ic R5s200582 sic@
    v_CellPower_ServingCell_FR1 := -85;

    v_CellPower_A3_NoEntry_FR1 := -97;

    v_CellPower_A3_Entry_FR1 := -79;

    v_CellPowerList_AtT0 := {cs_NR_CellPower(nr_Cell1, v_CellPower_ServingCell_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE),

                                cs_NR_CellPower(nr_Cell2, v_CellPower_A3_NoEntry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE),

                                cs_NR_CellPower(nr_Cell4, v_CellPower_A3_NoEntry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE)};

    v_CellPowerList_AtT1 := {cs_NR_CellPower(nr_Cell2, v_CellPower_A3_Entry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE)};

    v_CellPowerList_AtT2 := {cs_NR_CellPower(nr_Cell4, v_CellPower_A3_Entry_FR1, tsc_NR_NonSuitableOffCellSSS_EPRE)};

     v_CellPowerLevels := {v_CellPowerList_AtT0, v_CellPowerList_AtT1, v_CellPowerList_AtT2};

     f_NR_SetCellPowerList(v_CellPowerLevels[0]);

    //@siclog "Steps 1-2" siclog@

    //SS transmits an RRCReconfiguration message including measConfig to setup intraNR measurement and reporting for event A3.

    //The UE transmits an RRCReconfigrationComplete message

    v_RsrpThres := 2;

    v_PhysCellIdNeighbour2 := f_NR_CellInfo_GetPhysicalCellId(nr_Cell2);

    v_PCI_RangeElement :=  cs_PCI_RangeElement(v_PhysCellIdNeighbour2);

    v_MeasObjectNR := f_NR_MeasObjectNR_SSB(nr_Cell1, omit, omit);

    v_MeasObjectNR.blackCellsToAddModList := {v_PCI_RangeElement};

    v_MeasObjectList := {cs_NR_MeasObjectToAddMod_NR(tsc_NR_MeasObjectId1, v_MeasObjectNR)};

    v_ReportConfigList := {cs_NR_ReportConfigEventA3(tsc_NR_IdReportConfigId1, v_RsrpThres, r1)};

    v_MeasIdConfigList := {cs_NR_MeasId_Config_id1_obj1_conf1};

    v_MeasConfig := cds_38508_MeasConfig_NR(v_MeasObjectList,

                                          v_ReportConfigList,

                                          v_MeasIdConfigList);

    f_NR_SendRRCReconfiguration_MeasNR(nr_Cell1, v_MeasConfig);

    //@siclog "Step 3" siclog@

    //SS re-adjusts the cell-specific reference signal levels according to row "T1" in table 8.1.3.1.15A.3.2.-1.

    f_NR_SetCellPowerList(v_CellPowerLevels[1]);

    //@siclog "Step 4" siclog@

    //Check: does the UE transmit a MeasurementReport messages within the next 10s?

    f_NR_Check_NoMeasurementReport(10.0, nr_Cell1, cr_NR_MeasurementReport_Any);

    //@siclog "Step 5" siclog@

    //SS re-adjusts the cell-specific reference signal levels according to row "T2" in table 8.1.3.1.15A.3.2.-1.

    f_NR_SetCellPowerList(v_CellPowerLevels[2]);

    //@siclog "Step 6" siclog@

    //Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1 and Cell 4 without Cell 2 results?

    v_PhysCellIdServing := f_NR_CellInfo_GetPhysicalCellId(nr_Cell1);

    v_PhysCellIdNeighbour4 := f_NR_CellInfo_GetPhysicalCellId(nr_Cell4);

    f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId1, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)}));

    f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 5");

    //@siclog "Step 7-8" siclog@

    //SS transmits an RRCReconfiguration message including measConfig to remove Cell 2 from the blacklisted cell list.

    //The UE transmits an RRCReconfigrationComplete message

    v_MeasObjectNR := f_NR_MeasObjectNR_SSB(nr_Cell1, omit, omit);

    v_MeasObjectNR.blackCellsToRemoveList := {tsc_PCI_RangeIndex1};

    //v_MeasObjectNR := cds_38508_MeasObjectNR_RemoveBlackCells (v_FreqBandIndicator, v_SSB_Freq, v_SubCarrierSpacing, v_SSB_ToMeasure, v_SSB_MTC, omit, omit, {tsc_PCI_RangeIndex1});

    v_MeasObjectList := {cs_NR_MeasObjectToAddMod_NR(tsc_NR_MeasObjectId1, v_MeasObjectNR)};

    v_ReportConfigList := {cs_NR_ReportConfigEventA3(tsc_NR_IdReportConfigId1, v_RsrpThres, r1)};

    v_MeasIdConfigList := {cs_NR_MeasId_Config_id1_obj1_conf1};

    v_MeasConfig := cds_38508_MeasConfig_NR(v_MeasObjectList,

                                          v_ReportConfigList,

                                          v_MeasIdConfigList);

    f_NR_SendRRCReconfiguration_MeasNR(nr_Cell1, v_MeasConfig);

    //EXCEPTION: Steps 8Aa1 to 8Ab1 describe a transaction that depends on the UE behaviour; the "lower case letter" identifies a step sequence that takes place if a specific behaviour happens.

    //@siclog "Step 8-9" siclog@
    v_MeasResultList_NeighbourCells := 

    { permutation

        (

            cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2),

            cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)

        )

    }  //@ic R5s20582 sic@  
    alt

    {    //8a1IF the UE detects event A3 for Cell 4 before event A3 for Cell 2 THEN the UE may transmit MeasurementReport message to report event A3 with the measured RSRP values for Cell 1 and Cell 4

        []SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour4)})))))

        {

            //9 Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1, Cell 2 and Cell 4?

            SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR(v_MeasResultList_NeighbourCells)))));           
            f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 9");

        }

        //8b1IF the UE detects event A3 for Cell 4 before event A3 for Cell 2 THEN the UE may transmit MeasurementReport message to report event A3 with the measured RSRP values for Cell 1 and Cell 4.

        []SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour2)})))))

        {

            //9 Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1, Cell 2 and Cell 4?

SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR(v_MeasResultList_NeighbourCells)))));

                      f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 9");

        }

        //9 Check: does the UE transmit a MeasurementReport message to report event A3 with the measured RSRP values for Cell 1, Cell 2 and Cell 4?

        []SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1, cr_NR_MeasurementReport(cr_38508_MeasResults(tsc_NR_MeasId1,v_PhysCellIdServing, cr_NR_MeasResults_MeasResultNeighCells_NR(v_MeasResultList_NeighbourCells)))));

         {

            f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 9");

        }

    }

  }
